Axis Group Of Interior Design

To, Date: 17/01/2019

DR. SR BANERJEE

Project No- Ax-SrJD-14012019P757 Garden Tower - 2 , Uniworld City , Newtown Pin - 700135, West Bengal, India

	SUMMARY				
SI. No.	Particulars	Amount (Rs)			
1	Interior works (Project type- LHD SHM) (LUXURY HIGH DESIGN & STANDER HIGH MATERIAL)	3,908,242.00			
	TOTAL DISCOUNT AMOUNT (13%)	559,226.00			
	GRAND TOTAL AMOUNT	3,349,016.00			

Note:-

- 1.Extra charges will be applicable for extra work.
- 2.Payment condition:- 35% Advance to be paid along with the work order, another 35% after 40% progress of work, further 25% after 70% progress of work and rest 5% after final completion of job and handover of the site.
- 3. The total time period for completion of job is 150 days

FOR AROID	CLIENT SIGNATURE (FINAL APPROVAL)
(Mohsin Ali (Director)	

DR. S.R BANERJEE Date: 17.01.2019

Sub. : Quotation For Interior Fit out work

Sl. No.	Description	unit	qnty	rate	amount
	BEDROOM 1				
1	Providing and making Wardrobe made of 19 mm th ply finished with 1 mm th lam. from outside and 0.8 mm th laminate from inside.	sqft	54	1450	78300
2	Providing and making Bed made of PLY finished with 1 mm th lam. from outside and 0.8 mm th laminate from inside.	no	1	68000	68000
3	Providing & fixing UNDER WINDOW SEATING	ls	1	18000	18000
4	Providing & fixing bed back wall full paneling works with leather padding	sqft	77	700	53900
5	Providing & fixing BEDSIDE TABLE	no	1	7000	7000
6	Providing & fixing Dressing unit	no	1	16500	16500
7	Providing & fixing T.V Unit	sqft	35	1450	50750
8	Providing & fixing Wall niche design	ls	1	8000	8000
	TOTAL AMOUNT				300,450.00
Sl. No.	Description	UNIT	QNTY	RATE	AMOUNT
	BEDROOM 2				
1	Providing and making Wardrobe made of 19 mm th ply finished with 1 mm th lam from outside and 0.8 mm th laminate from inside.	sqft	54	1450	78300
2	Providing and making bed made of PLY finished with 1 mm th lam. from outside and 0.8 mm th laminate from inside.	NO	1	68000	68000
3	Providing and making side table cum mirror unit made of 19 mm th ply finished with 1 mm th lam. from outside and 0.8 mm th laminate from inside.	ls	1	17500	17500
4	Providing & fixing T.V UNIT	sqft	35	1450	50750
5	Providing and making 2 seater sofa	ls	1	18000	18000
6	Providing & fixing bed back wall Paneling with leather padding woks	sqft	55	800	44000
	TOTAL AMOUNT				276,550.00
Sl. No.	Description	UNIT	QNTY	RATE	AMOUNT
	MASTER BEDROOM				
1	Providing and making Bed made of PLY finished with 1 mm th lam. from outside and 0.8 mm th laminate from inside.	NO	1	68000	68000
2	Providing and making side table made of 19 mm th ply finished with 1 mm th lam from outside and 0.8 mm th laminate from inside.	NO	1	7000	7000
3	Providing and making Dresssing unit made of 19 mm th ply finished with 1 mm th lam. from outside and 0.8 mm th laminate from inside.	LS	1	20000	20000
4	Providing and making 2 seater I shape sofa made of 19 mm th ply finished with 1 mm th lam. from outside and 0.8 mm th laminate from inside.	NO	1	20000	20000
5	Providing and making M. Wardrobe made of 19 mm th ply finished with 1 mm th lam from outside and 0.8 mm th laminate from inside	SQFT	48	1450	69600
6	Providing and making F. Wardrobe made of 19 mm th ply finished with 1 mm th lam from outside and 0.8 mm th laminate from inside	SQFT	45	14	630
7	Providing and fixing working table	LS	1	16500	16500
8	Providing and making Display cum book shelves unit	LS	1	15000	15000
9	Providing & fixing t.v unit	SQFT	42	1450	60900
10	Providing & fixing center table	NO	1	8000	8000
11	Providing & fixing bed back wall paneling works WITH LEATHER PADDING	ls	110	700	77000
	TOTAL AMOUNT		·		362,630.00
	Description	UNIT	QNTY	RATE	AMOUNT

	LIVING & DINING AREA				
1	Providing & making of 6 Seater wooden dinning table ,(glass top) made with ply and lam.,including labour & material.	NO	1	35000	35000
2	Providing and fixing chaires	NOS	6	8000	48000
3	Poviding and fixing 6 SEATER SOFA with puff	LS	1	72000	72000
4	Providing and fixing Center table	LS	1	10000	10000
5	Providing and fixing dining table back wall brick work with wooden paneling works	SQFT	30	1150	34500
6	Poviding decorative hanging lights .	LS	1	12000	12000
7	Poviding and fixing multipurpose t.v unit	SQFT	70	1450	101500
8	Poviding and fixing disply with bar unit	LS	1	62000	62000
9	Poviding and fixing sofa back wall paneling works	SQFT	65	700	45500
10	Poviding and fixing shoe unit CUM DISPLAY		25	700	17500
11	Poviding and fixing Crockery unit	SQFT	45	1450	65250
12	Poviding and fixing Indoor plants design for 2 side balcony	LS	1	42000	42000
14	Poviding and fixing PASSAGE AREA LOFT WORKS	SQFT	17	1450	24650
	TOTAL AMOUNT	•	•		569,900.00
	Description	UNIT	QNTY	RATE	AMOUNT
	PUJA CUM LOUNGE ROOM				
1	Providing and fixing PUJA UNIT	LS	1	28000	28000
2	Providing and fixing STORAGE UNIT	SQFT	27	1450	39150
3	Providing and fixing STUDY TABLE	LS	1	14000	14000
4	Providing and fixing BOOK SHELVES	LS	1	10000	10000
5	Providing and fixing SOFA CUM BED	LS	1	38000	38000
6	Providing and fixing SOFA CUM BED BACK WALL PANELING	SQFT	50	700	35000
7	Providing and fixing Center table	NO	1	8597	8597
	TOTAL AMOUNT		172,747.00		

	Description	UNIT	QNTY	RATE	AMOUNT	
	KITCHEN					
1	Down/Base cabinet: Providing and fixing Down/Base cabinet under existing counter slab, made of plywood, finish with 1mm Laminate on out side & 0.8mm laminate on inside (as per sample approve) with all required hardware.	SQFT	70	1330	93100	
2	Over head/Top cabinet: Providing and fixing Overhead/Top cabinet,made of plywood, finish with 1mm laminate on out side & 0.8mm laminate on inside with all required hardware.	SQFT	50	1330	66500	
3	Accessories:					
4	i) S.S Basket	NOS	6	4200	25200	
	a.ss utensil basket Nos.1, b.ss cutlery basket. Nos1, c.ss cup&saucer. Nos-1, d.ssb pullout Nos1, e.ss cylinder trolley Nos1, f.Ss bin holder Nos1,					
5	ii) S.S Sink	NO	1	10000	10000	
6	Wall Tiles:	SQFT	70	300	21000	
7	Granite Counter:(As per Choice of Material)	SQFT	55	380	20900	
	TOTAL AMOUNT				236,700.00	
	Miscellaneous Work	UNIT	QNTY	RATE	AMOUNT	
1	Main door design with veneer finish and hardware.	LS	1	19000	19000	
2	Electrical works	SQFT	1575	230	362250	
3	Providing &Fixing Doors design with fittings	NOS	10	10000	100000	
4	Providing &Fixing POP designer false ceiling works	SQFT	2675	110	294250	
5	Providing &Fixing wooden designer false ceiling works	LS	1	18000	18000	
6	Providing &Fixing window Paneling	NOS	8	4200	33600	
7	Providing &Fixing Paint & Putty works	SQFT	5823	28	163044	
8	Providing &Fixing wall paper	LS	1	20000	20000	
9	Providing &Fixing texture paint	LS	1	20000	20000	
10	Providing & Fixing 3 BATHROOMS ALL FITTINGS CHANGES WORKS (W.C., BASIN & SHOWER UNIT MIRROR UNIT & TOWEL HOLDER)	NOS	53427	3	160281	
11	Providing & Fixing FLOOR TILES WORKS	SQFT	1876	290	544040	
12	Providing & Fixing BATHROOMS WALL TILES WORKS FOR 3 BATHROOMS	SQFT	510	290	147900	
13	Providing & Fixing BATHROOMS FLOOR TILES WORKS FOR 3 BATHROOMS	SQFT	170	210	35700	
14	Dismantling works	LS	1	10000	10000	
15	Providing & Fixing corian design works	ls	1	12200	12200	
16	Providing & Fixing charcoal design for main entrance	Is	1	27000	27000	
17	Providing & Fixing MDF design works	Is	1	22000	22000	
	TOTAL AMOUNT				1,989,265.00	
	TOTAL PAYBLE AMOUNT				3,908,242.00	

In addition, we also give Warranty of materials & products regarding the category.

- *Luxury: Premium quality Design, Top grade Materials, imported showpiece products as well as higher budget.
- + 5 years free service warrantyfrom our company,
- + 25 years plywood warranty from our company.
- + Others material warranty as per the material company.
- * Warranty will be applicable if and only if company's fault has been found. Company will not be responsible if any fault occurs from client side.
- *Quotations will be prepared with the Codes of category.
- * For more details, visit our website www.agointeriordesign.com/company-portfolio

DESIGN MATERIAL RATE	LHD Luxury High Design 33 sqft	LMD Luxury Medium Design 29 sqft	LBD Luxury Basic Design 25 sqft	SHD Standard High Design 21 sqft	SMD Standard Medium Design 19 sqft	SBD Standard Basic Design 17 sqft	BHD Basic High Design
LHM Luxury High	LHD LHM	LMD LHM	LBD LHM	SHD LHM	SMD LHM	SBD LHM	BHD LHM
Materials 3450 sqft	3483 sqft	3479 sqft	3475 sqft	3471 sqft	3469 sqft	3467 sqft	3463 sqft
LMM	LHD LMM	LMD LMM	LBD LMM	SHD LMM	SMD LMM	SBD LMM	BHD LMM
Luxury Medium Materials 3000 sqft	3033 sqft	3029 sqft	3025 sqft	3021 sqft	3019 sqft	3017 sqft	3013 sqft
LBM Luxury Basic	LHD LBM	LMD LBM	LBD LBM	SHD LBM	SMD LBM	SBD LBM	BHD LBM
Materials 2700 sqft	2733 sqft	2729 sqft	2725 sqft	2721 sqft	2719 sqft	2717 sqft	2713 sqft
SHM Standard	LHD SHM	LMD SHM	LBD SHM	SHD SHM	SMD SHM	SBD SHM	BHD SHM
High Materials 2450 sqft	2483 sqft	2429 sqft	2475 sqft	2471 sqft	2469 sqft	2467 sqft	2463 sqft
SMM Standard	LHD SMM	LMD SMM	LBD SMM	SHD SMM	SMD SMM	SBD SMM	BHD SMM
Medium Materials 2250 sqft	2283 sqft	2279 sqft	2275 sqft	2271 sqft	2269 sqft	2267 sqft	2263 sqft
SBM Standard	LHD SBM	LMD SBM	LBD SBM	SHD SBM	SMD SBM	SBD SBM	BHD SBM
Basic Materials 2100 sqft	2133 sqft	2129 sqft	2125 sqft	2121 sqft	2119sqft	2117 sqft	2113 sqft
BHM Basic High	LHD BHM	LMD BHM	LBD BHM	SHD BHM	SMD BHM	SBD BHM	BHD BHM
Materials 1700 sqft	1733 sqft	1729 sqft	1725 sqft	1721 sqft	1719 sqft	1717 sqft	1713 sqft